






BWG
Typewriter
Mean dif: Multiply N given by 2 for total N since two groups present. Example, alpha = .05, Medium effect size, N = 64, so 64*2 = 128 for total sample size.
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Anova: For each row multiply the tabled sample
size n by the number of groups to obtain the total 
sample size. Example, alpha = .05, 6g = 6 groups, 
large effect size, n = 14, so total sample size 
is 6*14 = 84.
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Mult R: The tabled sample
sizes are of little value and 
are misleading. For most 
researchers the hypotheses 
of interest are with individual 
or a set of regression 
coefficients. However, the 
sample sizes tabled here do 
not reflect hypothesis tests 
for individual or sets of 
regression coefficients. Instead, 
the sample sizes listed test the 
overall model null that 
R-squared = 0.00. This tells 
us only whether some 
predictors predict more 
model variance than would 
be expected by chance, which 
is not a hypothesis of interest 
in most research situations. 
I recommend learning how 
to determine appropriate 
sample sizes for individual 
coefficients rather than rely 
on these tabled values. See 
Cohen (1988) starting page 457. 
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